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6x(t) = 0.1 cos (2πt + 0.5π)
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716 N/m

2 Hz

π

N  2π10/               N /102π          N π10/      N π/10 

 

85 cm10 cm𝜙

rad         π/2rad         π/3rad         π/4rad         π/6 

9C

10

 0.05 m     m 0.05√2             

0.1 m       0.01√2 m



 

3 
 

 

11

m=1 kg

 

2√0.1 m/s 
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m/s   √0.4=  maxk= 0.4 N/m , v 

0.2 J k= 40 N/m

124 cm 

 π/4                  π/2                    50 π               25 π
 

13 
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222 kgC◦/kg.J 250 c=C◦60 

2500 J: 
 

C◦55 C◦5 4C◦ 40C◦50 

 (cm) الإزاحة

 15 (cmالمسافة )
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23C◦2100 J/kg.  

J/kg 510 ×3.33 C◦4200 J/kg. J

100 gC) ◦10 -(C◦80 : 
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292060

:
 

100 J                   120 J               75                       85 J

 

303 mC◦20 C◦50 

3.0015 m 

 1-C◦ 6-10 ×1.66    1-C◦ 3-10 ×1.66      1-C◦ 4-10 ×1.66      1-C◦ 5-10 ×1.66                
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